Honors Math 2: Completing the Square
Steps to completing the square:

1)  
Set up equation as Ax2 + Bx = C (so it is [image: image2.png]


 to zero)

2)
Add a square (□) to each side of the equation.
3)  
If (A) is not 1, then factor out that number from the first two terms.
4)
Take the middle number (B), divide by 2 and then square it.  This is the number that goes in 
each square.  If you had to factor out (A), then multiply the number in the square by A before putting it in the square on the other side of the equation.
5)
Rewrite the variable side of the equation as a perfect square factor:[image: image4.png](x+ #)



2.

6)
Solve by taking the square root of each side and then solve for the variable.

Solve by completing the square.

1.
x2 – 8x + 15 = 0




2.
2x2 + 12x + 4 = 0

3.
z2 – 2z = 24





4.
x2 – 6x + 10 = 0

5.
y2 – 5y = 10





6.
n2 – 2n – 8 = 0

7.
n2 = n






8.
3x2 – 12x + 4 = 0

Practice

Solve by completing the square.  Be sure to give exact answers, in simplest radical form where necessary.
1.  x2 – 8x – 20 = 0





2.  3x2 – 18x = 6
3. x2 – 12x = 9






4.  x2 – 7x = -12
5.  x2 + 5x – 28 = 0





6.  8y2 + 32y – 8 = 0

7.  3x2 – 6x = 8






8.   x2 – 8x + 24 = 0
